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A.3.2.4
Timestamp handling after PAUSE/PLAY requests

The description below intends to clarify how RTP timestamps are specified within the 3GPP PSS when a client sends a PLAY request following a PAUSE request. The RTP timestamp space must be continuous along time during a session and then reflect the actual time elapsed since the beginning of the session. A server must reflect the actual time interval elapsed between the reception of the PAUSE request and the reception of the PLAY request in the RTP timestamp. A client will need to compute the mapping between NPT time and RTP timestamp each time it receives a PLAY response for on-demand content. This means that a client must be able to cope with any gap in RTP timestamps after a PLAY request.

The PLAY request can include a Range header if the client wants to seek backward or forward in the media, or without a Range header if the client only wants to resume the paused session.

Example:
In this example Client C plays a media file from Server S. RTP timestamp rate in this example is 1000Hz for clarity.


C -> S:
PLAY rtsp://example.com/mediastream RTSP/1.0


CSeq: 2


Session: 123456


Range: npt=1.125-



S -> C:
RTSP/1.0 200 OK


CSeq: 2


Session: 123456


Range: npt=1.120-


RTP-Info: url=rtsp://example.com/mediastream;seq=1000;rtptime=5000



S -> C:
RTP packet - seq = 1000 - rtptime = 5000 - corresponding media time (NPT time) =  1120ms

S -> C:
RTP packet - seq = 1001 - rtptime = 5040 - corresponding media time (NPT time) =  1160ms

S -> C:
RTP packet - seq = 1002 - rtptime = 5080 - corresponding media time (NPT time) =  1200ms

S -> C:
RTP packet - seq = 1003 - rtptime = 5120 - corresponding media time (NPT time) =  1240ms



C -> S: PAUSE rtsp://example.com/mediastream RTSP/1.0


CSeq: 3


Session: 123456



S -> C:
RTSP/1.0 200 OK


CSeq: 3


Session: 123456



[10 seconds elapsed]



C -> S:
PLAY rtsp://example.com/mediastream RTSP/1.0


CSeq: 4


Session: 123456



S -> C:
RTSP/1.0 200 OK


CSeq: 4


Session: 123456


Range: npt=1.280-


RTP-Info: url=rtsp://example.com/mediastream;seq=1004;rtptime=15160



S -> C:
RTP packet - seq = 1004 - rtptime = 15160 - corresponding media time (NPT time) =  1280ms

S -> C:
RTP packet - seq = 1005 - rtptime = 15200 - corresponding media time (NPT time) =  1320ms

S -> C:
RTP packet - seq = 1006 - rtptime = 15240 - corresponding media time (NPT time) =  1360ms



C -> S: PAUSE rtsp://example.com/mediastream RTSP/1.0


CSeq: 5


Session: 123456



S -> C:
RTSP/1.0 200 OK


CSeq: 5


Session: 123456




C -> S:
PLAY rtsp://example.com/mediastream RTSP/1.0


CSeq: 6


Session: 123456


Range: npt=0.5-



[55 milliseconds elapsed during request processing]



S -> C:
RTSP/1.0 200 OK


CSeq: 6


Session: 123456


Range: npt=0.480-


RTP-Info: url=rtsp://example.com/mediastream;seq=1007;rtptime=15295



S -> C:
RTP packet - seq = 1007 - rtptime = 15295 - corresponding media time (NPT time) =  480ms

S -> C:
RTP packet - seq = 1008 - rtptime = 15335 - corresponding media time (NPT time) =  520ms

S -> C:
RTP packet - seq = 1009 - rtptime = 15375 - corresponding media time (NPT time) =  560ms
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